/s ey

Recall: the exterior angles of a polygon always have a sum of 360°

5 And the formula to find the sum of the interior angles of a regular polygon is
. . ‘ 180(n—2) ifnis the number of sides. _

? - Regular polygons have all angles congruent and all sides congruent

Find the following:
1.) The sum of the measures of the exterior angles of a paralielogra@

2.) The measure of each exterior angle of an octagon. (45
4.) The measure of each interior angle of a regular pentagor
5.) The measure of each interior angle of a regular 14-go m

6.) The measure of each exterior angle of a regular hexag .@

7.) The sum of the measures of the interior angles of a decago @

8.) The measure of an interior angle of a regular polygon is 150°. Which polygon is this?
(30 = (BUn-2 [T = 1 80n L0
o ,

180n ~340

3.) The sum of the measures of the interior angles of a pentago

N

h

~

9.) This polygon is regular...find p. 150n

e P

. Review #2

Recall: the relationships angles can have with each other, and the relationships formed by the
intersection of a transversal with iwo parallel lines.

1.) Which of the following are never congruent?
a.) rtical angles b.) same-side interior angles c¢.) alternate interior angles  d.) corresponding angles

(@} one of these

2.) From the figure on the right...
a.) name a pair of adjacent angles. H / G
b.) name a pair of vertical angles. 3,5 2,1
¢.) name a pair of alternate interior angles. /, 3 N
d.) name a pair of corresponding angles. Q) 3 5
of 1y

3.) If <1 and <2 are adjacent angles and m<1 = 2x + 12, and m<2 = 4x — 14, and the measure
of angle ABC is 88°, then what is the value of x?

byx 2 =LK

. bx =40
12

B ¢ x =13




4.) If a transversal intersects a pair of parallel lines so that a pair of same-side interior angles

are congruent, what must their angle measures be?

Review #3
Recall: the different types of triangles and their properties

1.) A triangle with all sides having different lengths is _scalen€

2.) The longest side of a right triangle is the } @ .

3.) If two angles of one triangle are congruent to two angles of another triangle, and the
included sides are congruent, then the triangles are congruent by S 3}1

4.) A base angle of an isosceles triangle is 38°, what is the measure of th @ angle? é 2
is

5.) If two right triangles each have a hypotenuse that is 25cm a leg that then the

triangles are congruent by HL

6.) The vertex angle of an isosceles triangle is 50°, what is the measure of one of the base
angles? 6 .

7.) If one of the base angies of an isosceles triangle is 44°-what is the measure of the vertex
angle? £

8.) In triangle MAD; m<M = 55° and m<D = § ngest side. /Y
), (k2
o . . p ‘_
3 i Wi+,

A

— TP~ w T
4 Aptw =68 7,ﬁ FwEI§E

Review #4
Recall: the properties and characteristics associated with different types of parallelograms:

77 =214

True/False
1.) The diagonals of a parallelogram are congruent. Fa be
2.) The sides of a rectangle are pérpendicular. True
3.) The opposite angles of a rhombus are supplementary. & {s€

4.) A rectangle has all sides congruent. Fgfse.
5.) The diagonals of both a thombus and a square are perpendicular. Tru € .
6.) A square is the only parallelogram with diagonals that bisect each other. False




Fill in the blank ) ,
7.} A trapezoid with congruent legs is called a(n) __ /5 Osceles trapezoid.
8.) A parallelogram with all sides congruent must be a _1hory b5
9.) If a quadrilateral has exactly one pair of paralle! sides, thenitis a Tr ApEZYi Q[ .
10.) If a quadrilateral has both pairs of opposite sides congruent, then you can prove that this
quadrilateral is a _ para lebyram .
11.) If the diagonals-of a parallelogram are congruent, then the parallelogram must be a
e ngle

21

12.) Find the value of x and y on this rectangle <

Tt 1672 8
=8 @ 4“7\&/ V<l [

3X
=21 y
13.) For this thombus, find %, ¥,

3x + 1 Xv#

Review #5
. Recall: the definition and aspects of Conditional Statements

“If the quadrilateral is a parallelogram, then the quadrilateral has opposite sides parallel.”
1.) What is the hypothesis of the above statement? The que d s g Parelle /Qf rer

2.) What is the conclusion?  ff« i,uao{ has opp 5 tes par e/

3.) What is the converse of the statement? T £ fhe q;ws[ heas opp Sides pee f}% Fhen 17 13 q

) ) . | ﬁ\ef .7[;&)”&‘{ le lp Pl
4.) What is the inverse of the statement? Ff /F s et & par /!v/cafwm/ AN AR 00T By p

‘ STUES pec oy, /
5.) What is the contrapositive of this statement? 7 17 doeS 207 ha¥e eop spdor i o
not o parllelogrom, s Thea it /¢

Answer the following:
6.) Is the converse of a conditional statement always true? /(9

7.) If a statement and its converse are true, they can be combined into a single statement using
the words “if and only if*. What is the new combined statement called? picoadifiony ]

8.) Write the following two statements as a biconditional:

“if two lines are parallel, then the lines are coplanar lines that never intersect.”
. “if two coplanar lines never intersect, then the lines are parallel.”

& cvaoiamaf“ /‘x};e; hever ;‘,\+{ors@¢,7L i avwd only i They are FWC’//&/,




Review #6
Recall: that algebra is sometimes needed to find the solution of a problem in geometry

1.) The three angles of triangle are 2x +20°, 4x —5°, x +25°.. find x. o 4 - o
2.) Find the value of y Vx+:0 e D xpss =g .

¢ JHD =150
Tx =140

3.) Find w
(9\{ =60 Y ::/D

60 1w T =180

7’ﬁ .=~ i‘&'o
\< Rp "V EprI0 - |
p-5
> @

p+10

8y + 60

4.) Find p
o

/\
>
-
»
.
»

Dy )8 45 =150
40)( ?’ r . ng“rsy'-r) ”}‘éj“-‘:/&@
5(‘[0)( -2y 5/09) ;/30)(?37:”@

40x =2y +13 X 30x + 3y -2 -
L 120%x ~by = 300 0 .,
13972y 1652150 ‘o, %z;: o Ehetby=asy

6.) The supplement of an angle is 10 less than 3 times its complement. What is the measure of the

angie'7< ‘ S D] r COW‘;
X 18§0~x qp-X

190 = 3@?*’/‘)""[0@
L§O0-X < 96)0“’3/{
Ay = 8O

5) Findxandy ',3313\1
120-24113N\ 45 /




Key

Midterm Review I

Always, Sometimes, Never
. 1.) Noncoplanar lines are skew Always
2.) Skew lines intersect g4/e ver
3.) 2 obtuse angles are cor/nypiementary W ever
4.) 2 right angles are congruent Alway S
5.) CPCTC proves two triangles congruent Vever
6.) The exterior angles of a poTygon add up to 360 degrees A wea.s
7.) 4 points are coplanar Spmetime S .
8.) The acute angles of a right triangle are complementary /4 [ ay .S
9.) 2 triangles are congruent by SSA Apve
10.) Same side interior angles on parallel lines are congruent. .5"0;-%6‘,{!',7\ er

Multiple Choice:
11.) Which of these is also a rhombus?
a.) rectangle @square ¢.) parallelogram  d.) pentagon
12.) On a trapezoid, which of these can never be congruent?
bases b.) legs c.) base angles d.) diagonals
13.) Which of these will not prove two triangles congruent? .
a) ASA b) HL c.) SSS @A
. 14.) If the vertex of an isosceles triangle is 70 degrees, what 1s the measure of a base angle?

a.} 70 degrees b.) 140 degrees (: Y53 degrees d.) 110 degrees

! 15.) What is the measuge of each interior angle of a regular hexagon?

R a.) 36 degrees (@) 20 degrees Kgm Ebrees d.) 720 degrees

lw 16.) In triangle RAT, m<A = 50 degrées and m<T is 70 degrees. What is the longest side of this
PR tr iangle? :
A0 ~( RA . b) AT c) RT d.) Not enough information
7\ ‘ ‘
/Y 17.) The supplement of an angle is 10 more than three times the complement. Whatisthe ;fp-x = 3@0%)1—1{7
sure of the angle? (505 = 9703410
0 degrees b.)} 130 degrees ¢.) 40 degrees d.}y 30 degrees oy =00
A

18.) If one obtuse angle of a parallelogram is 98 degrees, what is the measure of an acute angle * =50
of the parallelogram?
a.) 98 degrees b.} 112 degrees c.) 72 degrees (@ 82 degrees

19.) If the bases of a trapezoid are 18 and 36, what is the length of the median?
a) 54 b) 18 @ 27 d) 12

20.) Which of these traits are found in a rhombus but not a rectangle?
. a.) congruent diagonals perpendicular diagonals
¢.) congruent opposite sides -} congruent diagonals



21.) Ifthe sides of a triangle are 14, 23, and x then:
b) 37<x<9

a) 8<x<36
Numerical Problems:

22.) Find x and z.

¢) 10<x<36

'@9<x<37

23.) For this rectangle find x,

X' ‘lmﬁ y, and z
X L{)(’ﬁ o x° i o
S (@D
4x+5 ' i
y+
5 [
' 8 BZ =/5
z =5
24.) Findxandy:. 25.) Findx,yandz
4 x° 3 ¥
\\;/Iw / o 5w
M*dﬁm‘!’ 58°
of /\ypﬁfnwlé

28.) find x:

¥ =21

this octagon is regular

\ 3x
A =2 e 2
X =2143x 7 b g -




